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/General Instructions to Candidates : \

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

® Read questions carefully before answering.

® Read the instructions carefully.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the

Examination Hall.
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9026

(Qn. No. 1 to 4) Choose the correct answer for the following. Each carries One
Score. (Scores : 5x1=5)

Central problems of an economy arises due to which one of the following :
(a) Relative scarcity of resources.

(b) Abundance of labour and capital.

(c) Limited human wants.

(d) None of the above

The GDP and GNP of an economy will be equal when :
(a) The value of Net Factor Income from abroad positive.
(b) The value of Net Factor Income from abroad negative.
(¢) The value of Net Factor Income from abroad zero.

(d) The value of Net Factor Income from abroad is equals 1.

The ratio between stock of money supply and stock of high powered money is :
(a) Currency Deposit Ratio (CDR)

(b) Reserve Deposit Ratio (RDR)

(¢) Open Economy Multiplier

(d) Money Multiplier

Write the economic term for the following :

(a) The situation when people become more thrifty, the economy will end-up saving
less. (Score : 1)

(b) The receipts of the Govt. which create liability or reduce financial assets. (Score : 1)

Match column B and C with A. (Scores : 3x1=3)
A B C
(a) Monopolistic | (i) Single Seller (1) Differentiated Products
Competition

(b) Monopoly (i) A few Sellers (i) Homogeneous or
Differentiated Products

(c) Oligopoly (i11)) Fairly large (ii1)) Absence of Substitutes
number of sellers




1 2®@3 4 QIO @O MAVIGBS GaIIBIEBUBGE YOIV DTV HWMVATINSIHBN)D>.

30) capod aflo. (capodav’: 5 x 1=15)
. ®00¢ 68305)0IgIBs80I0IG8 B30 TLAUBAKITLAWIOE] GRSITVOIM  KHOOEMEIBUD

DENBOB)IMND

(a) @RCadHlS alleal 3VAeICYo.

(b) OB VABIWIOSWo MPIWMBATNABW]o WOBISIBDo.

() aIBAEROW AMJHOAIUDEBUD.

(d) cacdaloammaIlod am)AL).

2. a0y avmis alyoirun@l@d gl.adl.all. @ &l.a)a8.al.@) @eIAIBHMEOEA 00D ?
(a) afleBrom@INMES: @RQ CLISGHA)L!Lo WMITADo.
(b) allesvoomMIN)BS @RQ CLISGHNLIjo L3MITAD..
(c) allesvoomMIINBs @RQ CLISHALIo o l)23Yo.

(d) allesvoommIaNss @RQ ceISGMEI ‘17 M) @)Ll o.

3. 80 qumis’ alInundleel aleMEIOg CURIdOke §9a0alCAIW aleMETINg
GUORIA10 @IATENSS GRMIAIIGA6EN :

(@) alem MUl BRMYald®o (CDR)
(b) B>O)®@3 TEBMal @Maldd0 (RDR)
()  ®OaM ALMUAB AAITVOD YYEMBo

(d) atem )Mo

4. ©06% ORIS)OBIFBBOI TVINIATD alBo af)$YM)D :

(a) apeldo |EBGH  AGAVMBBOIEOWOG, TVMIG AIYCITVOVIOLI  HRIGCID)
LAUIB Y BHOW]o. (eapod : 1)

(b)  walBeaaFIM MIOWI® DENLIBHM D)o APV GHJOWIM@IAOW QIOAIHUD.

(eapod : 1)
5. GalQpals] Gal@ee)d. (crpodav’: 3 x 1=3)
A B C
(2) @O FHISAGIVA0| (1) afd afle@moal (1) oejam aflleesmo
(b) BB (i) 3)0af alle@®oedd | (i) aRHROGIIW DLJaNEBUD
@RELIBI3 9ejam alleesmo
(c) @rejpwlvcrmoe (111) @OMEAYM HSIN@3 | (1i1) ((IGITVNIaIM
afle@®oa9U3 QITVENB)OS @EIAIo
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Answer all questions from 6 to 14. Each question carries 2 Scores. (Scores : 9 x 2 =18)
6.  Two short run product curves of a firm are given below :

Qutput

o0

0 Input
(a) Name the curve (1) and curve (2) in the diagram.

(b) Write any one relationship between the two curves.

7. The demand and supply function of a commodity are given below :
q”=80-2P
q® =60+ 2P

Find the equilibrium price and equilibrium quantity.

8.  Following data shows the level of total expenditure of an economy during a particular
year. Calculate GDP,,
Items % in crores
(a) Private final consumption expenditures(C) 6,500

(b) Government consumption and investment expenditures(G) 5,000

(c) Private Final Investment Expenditure (I) 4,000
(d) Export (X) 600
(e) Import (M) 900

9.  Calculate price elasticity of demand at point A and B by using geometric equation from
the following linear demand curve.

D

Price

0 Quantity Demanded D
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6 1) ®@8 14 Q190 af)L10 Gal03EBUREN)o DOMOOALI®). 2 GAPIA all@o.
(capodav’: 9 x 2 =18)
830} 92068 WEFMIGHNs O VLM QIS IO @aNIClHe)M) :

Qutput

o0

0 Input
(@) coaAl™aIeE! Qldo (1) Ao (2) ad)aMIAUWAS Cal® af)9)®)d>.

(b) @ME QUBBUB ®AENSS AROGESILI)o BO) NUTWo af)9)®)d.

80) MOWMBENNOHNZ Ca108M (1B0M WANEBUS IO HGHIS)OTIBINM; :
q” =80-2P

q> =60+ 2P

avaefl® alleie AvmmEl® @RS BiNB)a l1S1e)d:.

80} (UIC®® AUAHODIG B30) TLMUA” AUIIMLOWIHL! HROTD Halelal WeIAE.
@6y @anlglene. GDP, &6emMa90a6)d.

sDMo % 6»0s10@3
(a) aUIBHOOY BRATIA DalGEIV Halelaldud (C) 6,500
(b)  waledeandlond Oaleeow MledHal (G) Oalelanud 5,000
(c) a0} @RATIA MEaHal Ha1LI0BUd (I) 4,000
(d) oogai (X) 600
(e) enosmaci (M) 900

@06¥ MANIFBB CMACOE6I G2106M QABAIE3 MIaN)pe ‘A’ ag)am enilm3)ailceiw) ‘B’
oM enilm)aileriw)o calosmamlond allel HeNAUIE:® HEMAENIAN)D .

D

Price

Quantity Demanded D
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12.

13.

14.
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Following data shows the money supply of an economy. Calculate M, and M.

Items (R in crores)
(a) Total currency notes and coins with the public 20,000
(b) Net demand deposits with commercial banks 40,000
(c) Savings deposits with post office Savings Bank 1,000
(d) Net time deposits with the commercial banks 3,000

“Total Revenue curve of a firm under perfect competition is an upward sloping straight

line passing through origin.” Give two points to support the statement.

Following are the two statements that the consumers and investors of an economy can

enjoy with foreign trade.

Statement 1 : Consumer’s and firms have the opportunity to choose between domestic

and foreign goods.

Statement 2 : Investors have the opportunity to choose between domestic and foreign

assets.

Identify the linkages that corresponding to each statement.

Classify the following items into Revenue Receipts and Capital Receipts.
(1) Government collected X 20 crores as Goods and Service Tax (GST).
(1)) Govt. borrowed X 50 crores from RBI by selling treasury bills.

(i11)) Govt. raised an amount of ¥ 10 crores through disinvestment.

(iv) Govt. received X 5 crores as interest receipts of loans given by Central Govt.

Draw an imaginary production possibility Frontier and mark a point which
represents fuller utilization of resources and a point which represents under utilization

of resources.



10.  &0) avmid’ alITunaleel alem (@lwom aflalesand @ey @maNldleaam). M, 9o

M; @jo HEMINONN) .

gDMo R 08101 @3)
(a) ©a10@RMATIIOM HORHAMBH HOWBAU] EMIFHBo MM WEBSB)o 20,000
(b) ansmizy mpmagler @pg Awlacad Mleaualo 40,000
(¢) GaloQdlaV dleastal MIoB)BEOR! TVMIEY TledHalo 1,000
(d) anemlzy nnsagleael @g cudlo Mleatalo 3,000

1. “ovmidem @lsacreomled 60} 92e/08s @EMIgaond ea0cm  AI)A0M  Qldo
S8AFMenes >smm) MBSICRIRS 2IBlaTD  HADAMIAN  EMACORID  Ql@noem.”
(ITROAIMEO® TVIWIHBHN)AN ETE G lODANDHUB af)9) ).

12, &0) aquaus alITuN@loe! 9alGRIGIGHUBEN0 MIEa:HalBABN)e AlleBUd QI I00-
OOILNOS EMFo DMEINHOT HKIWIAN ONE (¢ ITROAIMBUD ®I6Y ®ATIElHeIM).

@iwoaim 1 : @reimo, ailedwn oejmenslod wlan  O®OHTINSIBNOD
DalCRIHMIBNUID)o DLJOBH WFTIQIHUBAN)o GRAITVOAE.

(10V00IM 2 : @RERIIE, allcdrd @RIGEIT Ml HMOEIINS)ENIE MleHHal-
BAAS ERAITVOAYNE.

630G00 CALOAATZA0W] MITWE]S LNEEHRIV)HUB Gdla|olw)d.

13. ®oay ®mIMIgIB8 HMEBHS8 0QIMY) AIO)AIMo, MEIWM AIE)AIMo af)AVIEBBOM O
QI Eel)le

() 21099 cavalim Ml (GST) @lenss walemead 20 ¢S] 0)al GRIGl).
(i) RBI@'sau0l enilgnsdd allg@lenss walemeaad 50 ¢0S] 0)at &So 010603,
(ii)) alavgpadeaiqueaadlenss waledeaad 10 ¢Sl 0l 2AEGT.

(iv) (@ VOIMIOAG HHIS)T AIOYHSIBIEALNSS alellvdIMGIE WalMenad
5 ¢39S] @)at AVflE0la)).

14, 80) qvomefle: ©ejosm MVIWI®O @RGIO (Alo) Qs QleaIEBES alden
allmleowny  emilmjane, allealsngles  @aloygl  alldlcow  enilasjaip
BRSWIBHQ|S)OT ).
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Answer any 6 questions from 15 — 21. Each carries 3 Scores. (Scores : 6 x3=18)

15. Graphically illustrate the determination of equilibrium exchange rate under flexible

exchange rate system.

16. Calculate price elasticity of supply at points ‘s’ in the following diagrams.

Price Price
p > p
45°
m O q Output 0|m q Output
(A) (B)
Price
S
p
0 m 4 OQutput
©

17. “Modern Macro Economics is the off shoot of the Great Depression of 1929.” — Write
any three points to support the statement.

18. The diagram represents the profit maximizing level of output in a particular market
%

o q, q, q, 4, Output

structure.

Revenue/Cost

(a) Identify the market structure mentioned in the diagram.
(b) Name the curves labelled as curve (1) and curve (2).

(c) Identify the profit maximizing level of output.
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15 - 21 0190 ago@slelo 6 €213 33U OMOOAYI®)d. 3 ¢aPOA all@o.

(crpodav’: 6 x 3 =18)

@eoayss aldlae mlees aljairuadieer avamele almla dloss dldgnwo

o l(M@Tenes allaidlea)s.

®oeY ®aNIgIEs coaal@smglont ‘s’ apan mil)ailee! @isom ailer gpem oo

SHEMENOEN)B>.
Price
p S
m O q Output
(A)
Price
s
p
0 m 4 OQutput
(8

Price
p

45°
0|m q Output

(B)

“1929 oel celod aVOMITIG: 20MBIGTOM lB®)SBa @Iem GR/HWIMIG aun)el

LM YOO(TNo.” — (ITNIAIMHX AVOWHBIBN)AN AYIN CaldWIMHUB af)$Y®)M.

630) (AIGDD>» HCMUIB apismailenl eneo oJ(D@OO.I(.lﬂ@)OcGG)&CTT) 926|am all®omo

GO NG 3061 fl@lee)an).

/

Revenue/Cost

/

fo

0 qO ql q2

q; Output

(@) oAl AV)a flaflaflalee)an &Hemidg ceism Gdlafolw)s.

(b) Ao (1), Ao (2) af)ITEBOM CORING|S)OTIW ANGHTBBGIOS CalOOPI®)D

(c) ~I0Go alE2QIWIWIGIAM DI All®IMo WBla dlw)d:.
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19. In an economy, if marginal propensity to consume (MPC) = 0.6 and marginal

propensity to import (MPM) = 0.05, calculate :
(a) Tax Multiplier
(b) Govt. Expenditure Multiplier

(c) Open Economy Multiplier

20. Governments have mostly depend on borrowings for meeting its budgetary deficits. But
this govt. debt act as a burden on future generation. Do you agree with this statement ?

Substantiate.

21. Classify the followings into short run and long run production function :
(a) Law of variable proportion
(b) Returns to scale
(c) All inputs are variable
(d) Some inputs kept constant
(e) Factors are changing proportionately

(f) Law of diminishing marginal product

Answer any 4 of the following from 22 — 27. Each carries 5 Scores. (Scores : 4 x 5 =20)
22. (a) [Illustrate graphically the price fixation action of the government to protect the
consumers from huge price rise. (Scores : 3)

(b) State any two consequences of this action on consumers. (Scores : 2)

23. In a two sector economy, consumption function C = 80 + 0.6 y, Autonomous

Investment I = 50 crores.
(a) Calculate the value of output multiplier. (Score : 1)
(b) Find the aggregate demand and equilibrium income in the economy. (Scores : 3)

(c) If investment increases to I 60 crores calculate its effect on equilibrium
income. (Score: 1)

9026 10
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80) avaIE” alIALNIA3 A0 Daleeow) ealelal (MPC) = 0.6 9o enOGe)AG)
ealelal’ (MPM) = 0.05 @ryem :

(a) SOV !YEMdo

(b)  waldenad ealelol VEM0

()  ®OaM ALAUAR ATV VFMdbo

MIRY H0oll @OEMo H2IGINGIM WAIMMBOAAT MAUIAIW)o ARYUIVBNIND Hald®)
QIQEO@WIEM. af)INI@3 DD NAIMBOATT 010 €O MEIMNOW B0} NIOW(EWOE.
(ITROAIMEWIS GO HH)ANEENEO ? TVYWIBHBIHN)D.

@AY MANIFBS DMEIBOS (AOAVIGHILI HLJIBM WA, dl@CLIB0el HLjOBM Wdamo
a)MEBBOHM 00 GIAIBe)B :

(a) alleesdomialom Mlwao

(b) CE®OMAVA]LBS (A I® § Do

(©)  age mlealvangl aogallcwwadem

(d) ailer dleaivenyd audlonow] dleimldcrmam)

(€) ~rISHEBUB BRYMIBIGHAOWV] 10gea|SIAM)

() @Rl allacam 9ejan dloao

22 - 27 190 21034108 ago®Brlene 4 af)aROTIM 2OMOOAN®)D>. 5 EMpod
alloo. (copodav’: 4 x 5 =20)
() 9alERISMIGOE A8 WA  ailel mlelapnoedled  alanye
MoBHSNMGIMIV]  walemead sealsellenss allel dluileerm
(1013TO® 630} CORID 2 l@ATHNOG TVa00VWE®IE3 aflaidled.  (capodav’: 3)
(b) MOMOo (UAUBGHIMTTIENOS DalCRIGMISNSIG3 DENBI®IAN VNS BRMANO

aDRIBBUY (1000 H9):. (capodav’: 2)

80) aflcaaien qumis alINNG3 Daleeow wdmo C = 80 + 0.6 y, 80¢g0eMATy’

estalo =50 eo09).
(@)  2eJaM VIFMBGNLIL0 GHEMBNIBN)D:. (eapod : 1)
(b) auaud aITLOVISE! HRIBI GaldBMAI) TVAMENG ANlEIWIo BHEMENIBND:.

(capodav’: 3)
(c) mleatalo X 60 cBoslvlicelns aIdeUlememMIdd quamelo alleilelmeod,)an

aDElo GHEMNENIBND>. (eapod : 1)
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25.

26.

27.

28.
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(a)
(b)
(©)

List out two features of public goods. (Scores : 2)
How does private goods differ from public goods ? (Score : 1)

Give two appropriate examples for each. (Scores : 2)

Given the demand curve of a firm :

(2)
(b)

%]
g P=AR=mR
g
&
0 Qutput
Identify the market structure represented on the figure. (Score : 1)

Show Graphically the profit maximizing condition of the above market in the

short run :
(1)  With normal profit (Scores : 2)
(i1)) With abnormal profit (Scores : 2)

Explain the relationship between TP, AP and MP in the short-run with the help of a

diagram.

Some times duopoly firm behave like a monopoly firm. Some other times they are

competing each other. Explain the behavior and features of Oligopoly / Duopoly firm.

Answer any 2 of the following from 28 — 30. Each question carries 8 Scores.

(Scores : 2 x 8 =16)

RBI reduces its rate of lending to commercial banks at 25 point basis in its third

monetary policy review of 2017 — 18.

(2)
(b)

(c)

Which policy instrument is used by RBI in the above context ? (Score : 1)

Briefly explain the operation of any three monetary policy instruments that RBI

would adopt during inflation. (Scores : 6)

Name the instrument that RBI often uses for stabilizing the stock of money from

external shocks. (Score: 1)

12



24.

25.

26.

27.

28.

9026

(3)  ©al0®) AITVIBOBIOS O6NE AV|EIAIEBUS LAY Ga 1Y) . (capodav’: 2)
(b)  afEBBOMWIN AVIBHO0Y AITVIBOUB HaIO®) QTGOS B3 AFlan caIdlg
mleyan@) ? (capod : 1)

(c) 830cEoamImle e all®o OBIAOIMEBUB agf) I®))D. (capodav’: 2)

830) 2080 @MIGIO C2108MAl@o ®ISY MANVIBIH9NIM) :

[ P]
g P=AR=mR
Z
=7
0 Qutput
(@) cEaIANl@ODIG3 3H0eMlaflgI8s HEMIIS 2LISM @@l |OlW)d:. (eapod : 1)

(b) MBS B06MofIgI88  HEMIO8  @RAINNAXIGE  (AOTVIGHILITTIOL!  £I10Ro
alE200IW] BRYEMANGIMBS AAITVOGUB GO (BTG HIATIBND> :
(I)  TLOWOMEM EI0Eo QLB AILNIM@Y (copodav’: 2)

(if)  @RAVOWOEM LI QILBGNAILN)IMNEY (capodav’: 2)

o200 2e|/Mo (TP) vodwal (AP) milacam oejamme (MP) snal @moilensss enimuo
€O a l@OEBIOR TVa00WEDI@3 AlVdElBBl09).

afler  aumdeengl@d  AREaea gl 2e[03d MG DO DB
@MIGIOMEaloNL] al®)A00)IM). AQ) alleiCajowd @RAI aldMYRe AGNLGEIHHNIM).

@ejoWluom/av)eaneangl  oepad  @pMidlaad  auviedal  availleuoeH®Hud

aflvoBlo@la)d.
28 — 30 a0 621034BgEla8 @Ol  VORINATIM  DOMOOAY) D).
$30600aMIm)e 8 capod allmo. (copodav’: 2 x 8 =16)

2017-18 @3 RBI @S @8I0 aldB aleMM® GRAIGEIIGMOMIG3, QloemleRy

NIOB)HUBAH) MENAN QIO TGS 25 Cald@IaF GRSITLOIMEDTIE3 ORI,

(a) MBS 63H0sEMIgIss @RAIMNWIEE RBI afi®) aleMM®@ Oald:osmacsem’
DalCIUIla|® ? (eapod : 1)

(b)  aleMeaIn)e] @eaIOXIE3 RBI 2alc@odflaman ago@eslele 3 alemm@
DaldHOMEBBIAS ((IAUIBBMHMo 21)0)AsN AlAIGIHE) . (capodav’: 6)

(¢) NIa0y @RYLI®EBEIGE MM aleMevdaloInM qudlo® mlel aldaman-

@Ml RBI 9a16@0oUfl@nam alemMmM® Dald06Mo. (eapod : 1)
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30.
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(a)

(b)

(©)

(2)

(b)

Write down the identities of calculating GDP of an economy using three

methods. (Scores : 3)

There are only 2 producing units, A and B in the economy. Calculate :

(i) GVA,p of firm A. (Scores : 2)
(i) GVA,,p of firm B. (Scores : 2)
Calculate GDP,p. (Score : 1)
Items Amount (X in Crores)
(1) Sales by firm A 10,000
(i) Sales by firm B 20,000
(ii1)) Change in stock of firm B 2,000
(iv) Change in stock of firm A 500
(v) Purchase of raw materials by firm A 5,000
(vi) Purchase of raw materials by firm B 6,000
(vii) Consumption of fixed capital by firm A & B 1,800

Mr. Roy wants to buy rice and milk with the money income of X 200. Its market

prices are X 10 and X 5 respectively.

(1) Derive the budget line equation.

(1i1) Find the slope of the budget line.

(ii1)) Find out horizontal and vertical intercept.

Explain the optimum level of the consumer (Consumer’s Equilibrium) with

suitable diagram.
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(2)
(b)

(c)

(2)

(b)

GDP &6ma60a9m@imss o) Aclagins auaom@aud o). (capodav’: 3)

qumIa’ aljaInodi@, A, B aganlamem osme’ 9ejosm @amigiasosm osso.
0¥ al0WIANAU BHEMNANIBND>

(1) ‘A’ agam 2ej08m @)amidload GVA . (capodav’: 2)
(i) ‘B’ agam 9ejosm wjemiglond GVA 4. (capodav’: 2)
GDP)jp 36 a6089) . (eapod : 1)
Mo @) (X 20510 @3)
(i)  oepsm iy A @es afllejm 10,000
(i) oepsm Mg B @es allejm 20,000
(iii) @ejBm cc»;mﬂg“ B @es cuwaloomlenss 2,000
20Qo
(iv) oepem @Ml A @S cuoalooile)ss 500
20Qo
(v) oepsm @pmlg A @S GRAVAVGHI® 5,000

QITVIENBOS QI06BRD3

(vi) oepsm @Ml B @S @RAV-aVGI® 6,000
QIQVHOBIOS QI06TBG3

(vii) @epsm @pemilg A @esep B @eswi 1,800
audlo 2eIWMm DalG@IUO

2l. 00 200 @)l QIORIMOHI@E GRAIWo aldLljo QGBI @RYWNaClBNM).
@RAIWeS aflel @LNd(@no 10 @)al®)o 5 @)aIIRo6M.

()  nIng eeeInd LA, MIB20109)D.

(i) ningeeeINOd aIGlol @&oem)d.

(iii) @a0odleaqvosme@d  BAOHAVaI], 6AIASIEO@  MWBAOAVAI]  agavial
B6Ne)a ilS1ae)d.

TRl ILI VAN WEBININS DaIBROBDHMY quamellmoairun
QflvoBRBe)B.
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